
Vypočítaj správne: 

17 + 5 = ___    14 – 2 =  ___    8 – 6 =  ___                                  

19 - 9 = ___     11 + 7 =  ___   14 – 4 = ___ 

10 + 7 = ___     19 - 10 = ___   13 – 10 = ___  

18 + 1 = ___    11 + 8 =  ___   10 – 8 = ___  

12 + 6 = ___     17 – 6 =   ___   14 + 5 = ___ 

11 + 7 = ___     20 – 10 = ___   13 – 2 = ___ 

13 + 4 = ___      3 + 12 =  ___   16 – 5 = ___ 

16 + 2 = ___    15 + 4 =   ___   17 + 2 = ___  

14 + 4 = ___    10 + 10 = ___   20 – 6 = ___  

19 - 7 = ___     12 – 1 =  ___   18 – 5 = ___ 

 

Napíš číselný rad od 1 do 20 :  

1, 2,..................................................................................................................... 

.........................................................................................................................20 

 

Porovnaj čísla: < > = 

20 10    14 18    

15 18    20 9 

19 11    12 12 

17  7    7  11 

6 14    19 19 

13 12        14 19 

 



1 – modrá, 2 – ružová, 3 – oranžová, 4 – červená, 5 – zelená, 6 – žltá, 7 -fialová 


